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| Semester B.Com. Examination, Nov./Dec. 2017
(CBCS) (2014-15 and Onwards) (F + R)
COMMERCE
1.6.b : Methods and Techniques for Business Decisions

Time : 3 Hours Max. Marks : 70

Instruction : Answers shouldcompletely be either in English or Kannada.

SECTION-A

.Answerany 5 (five) sub-questions. Each sub-question carries 2 marks. (5%x2=10)

1. a) What are rational numbers ?

b) TheLCM and HCF of two number;are 180 and 3 respectively. If one number
is 27, find the other.

c) Solveforx:x+3 +x=5. o
d) Find the 10" term of a sequence 10, 12, 14 .*~
e) What is a square matrix ? Give an example.

2 a5 ioar

g) How much interest will be earned on 7 2,000/- @ 8.5% simple interest in
2 years. e

SECTION-B
Answerany 3 (three) questions. Each question carries 6 (six) marks. (3x6=18)
2. Solve by the method of elimination:
X+ 6y =3
2X -5y =16
3. Find the sum of the series 99 + 101 + 103

L

..... to 25 terms.

4. What would be the amount of Compound Interest (Cl) on 25,000/- at 5% rate of
interest p.a. for 3 years ?

P.T.O.
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B4 7
5. Showthat| 2 1 3| =-40.

LBV D
6. Find: o

i) TD, ii) BD, iii) BG on a bill of 10,450 due 3 months hence @ 5% p.a.

SECTION-C
Answer any 3 (three) questions. Each question carries 14 marks. (3x14=42)
7. a) Divide 7 1,600 between A, B and C, so that B may have ¥ 100 more than A
and C ¥ 200 more than B.

b) The weekly wages of 30 persons consisting men and women amount to
73,800. Each man receives ¥ 140 and each woman % 100 as wages per week.
Find the number of men and women. '

8. a) Solve by formula method
x2—3x=10.

b) The sum of 3 terms in G.P. is 14 and their product is 64. Find them.
2 4 4

9. a) IFA=|4 2 4| prove that A2— 8A— 207 =0.
4 42 -

b) Solve by Crammer’s rule
3X-y=6
2x—15=-3y.

10. a) If 12 pumps working 7 hours a day can lift 2,800 gallons of water in 20 days, in
how many days can 20 pumps working 9 hours a day lift 3,000 gallons of water ?

b) Abill for z 14,600 drawn at 3 months was discounted on November 1 1% for 14,544,
If the role of simple interest is 4% p.a., on what date was the bill drawn ?

11. a) Find the amount of annuity if payment of £300 is made at the end of each
year for 4 years at the rate of 10% p.a. compounded yearly.

b) Find the co-factors of matrix of A.
523

A=312.
1251
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1. a) gonew BN ROTTER?

b) 0@ Bodne o.A0. . o) .70, 8. 1I¥d 3N 180 023 3 BT, WBY 8o
033,27 3038 PSR ﬁo@%aﬁ)ﬁgﬁoﬁ:&@o@ga

c) xa’é{w@?@:x+3+x=5.
d) 10,12, 14...... 3803 103 BB FoRELRCD.
e) SInF =P DOTTE ? TR TE V.

45 2
na=|s 5 2}8{1 % 5] wmoA+ Bos) gommono

g) 72,0003 ee38.5% SRGRCIH0E 2 FRFNTEY, SR LB NERITEE?

TR -V
QINRTIETR 3 @’%ﬁ@ﬁ SO, B303RomOTINL 6 E30BNED. (3%6=18)
2. 3P030N m_é%oﬂmcﬁ- WA
5x+6y=3
2x — 5y = 16

3. 99+ 101 +103..... 3eedoDd BRrw25 RoNnY 'dfagaﬁdg{%oz&%o@om&

4. 75,000 3 et IRE5% G R0H BOFY,3 SRFNT, TR LRI FoROLBWD.

o NN
-
N ow o~

9. =—40 20T BREOA.

1

6. 7 10,450 33(R00) Son% BaoRes) rees a3 5% LRI0E 33 SINIYNESY
BOTR SBOWD.
i) TD ii) BD iii) BG
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7. 8) ¥ 1,600 ne3 A, B 3083 C rien 83 380508 Sons.
‘B’ ‘A’ hos 100 T @zsaﬁ =08 ‘C’' it ‘B’ hog 200 % Eﬁzsaﬁ Qetseies.

b) no@ach = éon‘-’d:n’@#:iméﬁfaow 30 3T 2.0030 2T BRSO3 T 3,800 Clplebcinf
T NowAD uocﬁo mdﬁf 140 = ﬁ%ﬁmo B T Bonad wotsd mdﬁ 100 7 ﬁ%fi:
ﬁr@@aﬁ DRSS m’ot's’,ud 030 &oﬁa’d Noaj’ n’eiab BOTOEEOND.

8. a) mga’sﬁg{ WP VR
- 3x = 10.

b) OmEE FeRod @eth Rand Seg 14 358) end Mooy 64 wud s TENTI,
BOTRIEBOND.

2 4 4

9. a) A= z i STEA2— 8A — 207 = 0 20T 2RE03.

4
2
b) BRI ROLROBR? 2098 1B,
X-y=0
2X—15=-3y
10. a) 12 Womnivb BRI 7 rosinidod 20 OIS 2,800 My RESRH T RRATK, 20 Howrieh
o8 9 ﬁoﬁﬁeﬁoé’ 3,000 myom® @ecHo Ssiebs) s&mée,o T, &aﬂn’&b Wesonogss ?

b) 14,600 T 1% 2T (3) 8one 5306@0635,11 4,544 3 nNOR 33000° 11300
S0DOISVONB, BT WEROD TC & T4% T3 aao@o:bab, W3 T8 RO ?

1. a) T&=nr T3 ErSoY T 300 NS4 BRFRY 20 TRERTS 3¢, 103 WO G
DRFBR d%,qoo&ﬁea%fuzﬁé (compounded) ATOR RDERERIT fmé:ﬁaﬁa éocéa&o@cma

b) A=

- W O,
N = N
— N W

3530, i@@@sﬁy m%gcm% BOBI&EROD.




